

Home Search Collections Journals About Contact us My IOPscience

Finite-dimensional behaviour for the Benjamin - Bona - Mahony equation

This article has been downloaded from IOPscience. Please scroll down to see the full text article. 1997 J. Phys. A: Math. Gen. 30 4877 (http://iopscience.iop.org/0305-4470/30/13/035)

View the table of contents for this issue, or go to the journal homepage for more

Download details: IP Address: 171.66.16.108 The article was downloaded on 02/06/2010 at 05:48

Please note that terms and conditions apply.

# Finite-dimensional behaviour for the Benjamin–Bona–Mahony equation

Bixiang Wang<sup>†</sup> and Wanli Yang<sup>‡</sup>

† Department of Applied Mathematics, Tsinghua University, Beijing 100084, People's Republic of China

<sup>‡</sup> Department of Mathematics, Armored Force Engingeering Institute, Beijing 100072, People's Republic of China

Received 5 November 1996

**Abstract.** This paper deals with the asymptotic behaviour of solutions for the Benjamin–Bona–Mahony equation. We first show the existence of the global weak attractor for this equation in  $H^1$ . And then by an idea of Ball, we prove that the global weak attractor is actually the global strong attractor. The finite-dimensionality of the global attractor is also established.

## 1. Introduction

In this paper, we investigate the finite-dimensional behaviour of solutions for the Benjamin– Bona–Mahony equation given by

$$u_t - u_{xxt} - \nu u_{xx} + (f(u))_x = g(x) \qquad \text{in } \Omega \times R^+$$
(1.1)

where  $\nu > 0$ ,  $f : R \to R$  is a smooth function,  $g(x) \in L^2(\Omega)$ ,  $\Omega \subset R$  is a bounded interval.

We note that if  $f(u) = u + \frac{1}{2}u^2$ , then equation (1.1) becomes

$$u_t - u_{xxt} - v u_{xx} + u_x + u u_x = g(x).$$
(1.2)

Equation (1.2) has been proposed as a model for propagation of long waves and incorporates nonlinear dispersive and dissipative effects. The existence and uniqueness of solutions for this equation has been investigated by many authors, such as Bona and Dougalis [1], Bona and Smith [2], Showalter [3], Amick *et al* [4]. In the case v = 0, this equation has been studied by Benjamin *et al* [5], Bona and Bryant [6], Medeiros and Miranda [7], Medeiros and Menzala [8], Albert [9], Biler [10], and the references therein.

The aim of this paper is to derive the existence of the global attractor for equation (1.1) in  $H^1(\Omega)$  which has finite Hausdorff and fractal dimensions. Since the nonlinear semigroup S(t) defined by equation (1.1) is not compact in  $H^1(\Omega)$ , we cannot construct the global attractor by the method introduced by Temam [11], or Constantin *et al* [12]. Here we first employ the techniques developed by Ghidaglia [13] to show the existence of global weak attractor for equation (1.1) in  $H^1(\Omega)$ . For that purpose, it is necessary that the semigroup S(t) should be weakly continuous in  $H^1(\Omega)$  for every t > 0. Here we apply a direct method to establish the weak continuity of S(t) in  $H^1(\Omega)$ . After we obtain the existence of the global weak attractor, by an energy equation and an idea of Ball [15] we conclude that the global weak attractor is actually the global strong attractor for S(t) in  $H^1(\Omega)$ .

0305-4470/97/134877+09\$19.50 © 1997 IOP Publishing Ltd

4877

This paper is organized as follows. In section 2, we recall some facts about the solution semigroup S(t). By a direct method we show that S(t) is weakly continuous in  $H^1(\Omega)$  for every t > 0. In section 3, we establish the uniform *a priori* estimates in  $H^1(\Omega)$ . Then by an idea of Ball [15] we show the existence of the global attractor for S(t) in  $H^1(\Omega)$ .

## 2. The nonlinear semigroup

We consider the following Benjamin-Bona-Mahony equation:

$$u_t - u_{xxt} - v u_{xx} + (f(u))_x = g(x) \qquad (x, t) \in \Omega \times R^+$$
(2.1)

with the initial condition

$$u(x,0) = u_0(x) \qquad x \in \Omega \tag{2.2}$$

and the periodic boundary condition

$$\Omega = (0, L)$$
 and  $u$  is  $\Omega$ -periodic (2.3)

where  $\nu$  is a positive constant,  $f : R \to R$  is a smooth function,  $g(x) \in L^2_{per}(\Omega)$ . Similar to the methods used in [1] or [7] we can easily deduce that  $\forall u_0 \in H^1_{per}(\Omega)$ , problem (2.1)–(2.3) possesses a unique solution u(t) defined on  $R^+$  such that

$$u(t) \in L^{\infty}(0, T; H^{1}(\Omega))$$
  $\frac{\partial u}{\partial t} \in L^{\infty}(0, T; H^{1}(\Omega))$   $\forall T > 0.$ 

This shows that system (2.1)–(2.3) defines a solution semigroup S(t) which maps  $H^1(\Omega)$  to  $H^1(\Omega)$  such that  $S(t)u_0 = u(t)$ , the solution of problem (2.1)–(2.3).

Let  $H = L_{per}^2(\Omega)$  be the Hilbert space endowed with its usual inner product  $(\cdot, \cdot)$  and norm  $\|\cdot\|$ ,  $\|\cdot\|_p$  denote the norm of  $L^p(\Omega)$  for all  $1 \le p \le \infty(\|\cdot\|_2 = \|\cdot\|)$ .  $\|\cdot\|_X$  denotes the norm of any Banach space X.

For later purpose, we first establish the following.

Theorem 2.1. Assume that  $g(x) \in L^2_{per}(\Omega)$ ,  $u_0 \in H^1(\Omega)$ . Then the dynamical system  $S(t) : H^1(\Omega) \to H^1(\Omega)$  is weakly continuous for every t > 0.

*Proof.*  $\forall t_1 > 0$  fixed, we shall show  $S(t_1)$  is weakly continuous from  $H^1(\Omega)$  to  $H^1(\Omega)$ . Assume now that

$$u_{0k} \to w_0$$
 weakly in  $H^1(\Omega)$  (2.4)

our aim is to show that  $S(t_1)u_{0k} \to S(t_1)w_0$  weakly in  $H^1(\Omega)$ . Choose  $T > t_1$ , and denote by  $u_k(t) = S(t)u_{0k}$ ,  $w(t) = S(t)w_0$ . Since the weak convergence implies the boundedness, it follows that

$$\|u_{0k}\|_{H^1(\Omega)} \leqslant R \tag{2.5}$$

where R is a constant independent of k.

Note that  $u_k(t)$  satisfies

$$u_{kt} - u_{kxxt} - v u_{kxx} + (f(u_k))_x = g(x).$$
(2.6)

Taking the inner product of (2.6) with  $u_k$  in H, we find that

$$\frac{1}{2}\frac{\mathrm{d}}{\mathrm{d}t}\|u_k\|^2 + \frac{1}{2}\frac{\mathrm{d}}{\mathrm{d}t}\|u_{kx}\|^2 + \nu\|u_{kx}\|^2 + \int_{\Omega} (f(u_k))_x u_k \,\mathrm{d}x = (g, u_k).$$
(2.7)

Set

$$F(s) = \int_0^s f(\tau) \,\mathrm{d}\tau$$

then we have

$$\int_{\Omega} (f(u_k))_x u_k \, \mathrm{d}x = -\int_{\Omega} f(u_k) u_{kx} = -\int_{\Omega} \frac{\partial}{\partial x} F(u_k) \, \mathrm{d}x = 0.$$
(2.8)

It comes from (2.7), (2.8) that

$$\frac{\mathrm{d}}{\mathrm{d}t}(\|u_k\|^2 + \|u_{kx}\|^2) + 2\nu \|u_{kx}\|^2 \leqslant \|g\|^2 + \|u_k\|^2.$$
(2.9)

By (2.9) and the Gronwall lemma we see that

$$\begin{aligned} \|u_k(t)\|^2 + \|u_{kx}(t)\|^2 &\leq e^t (\|u_k(0)\|^2 + \|u_{kx}(0)\|^2) + \|g\|^2 e^t \\ &\leq R^2 e^t + \|g\|^2 e^t \quad (by \ (2.5)). \end{aligned}$$

And hence

$$\|u_k(t)\|_{H^1(\Omega)}^2 \leqslant C \qquad \forall 0 \leqslant t \leqslant T \tag{2.10}$$

where C is a constant depending on T.

Taking the inner product of (2.6) with  $u_{kt}$  in H, we find that

$$\|u_{kt}\|^{2} + \|u_{kxt}\|^{2} = -\nu(u_{kx}, u_{kxt}) + (f(u_{k}), u_{kxt}) + (g, u_{kt})$$
  
$$\leq \nu \|u_{kx}\| \|u_{kxt}\| + \|f(u_{k})\| \|u_{kxt}\| + \|g\| \|u_{kt}\|$$

By (2.10) and Agmon inequality

$$\|u\|_{\infty} \leqslant C \|u\|^{\frac{1}{2}} \|u\|^{\frac{1}{2}}_{H^{1}(\Omega)} \qquad \forall u \in H^{1}(\Omega)$$
(2.11)

we obtain that

$$\|f(u_k(t))\|_{\infty} \leqslant C \qquad \forall 0 \leqslant t \leqslant T.$$
(2.12)

And then it follows that

$$\|u_{kt}\|^{2} + \|u_{kxt}\|^{2} \leq C \|u_{kt}\| + C \|u_{kxt}\| \leq \frac{1}{2} \|u_{kt}\|^{2} + \frac{1}{2} \|u_{kxt}\|^{2} + C$$
(2.13)

which implies that

$$\|u_{kt}\|_{H^1(\Omega)}^2 \leqslant 2C \qquad \forall 0 \leqslant t \leqslant T.$$
(2.14)

By (2.10) and (2.14) we find that there exist  $\theta \in H^1(\Omega)$ ,  $u(t) \in L^{\infty}(0, T; H^1(\Omega))$  and a subsequence, which is still denoted by  $u_k$ , such that

 $u_k(t_1) \to \theta$  weakly in  $H^1(\Omega)$  (2.15)

$$u_k(t) \to u(t)$$
 in  $L^{\infty}(0, T; H^1(\Omega))$  weak star (2.16)

$$u_{kt} \to u_t$$
 in  $L^{\infty}(0, T; H^1(\Omega))$  weak star. (2.17)

By (2.16), (2.17) and a compactness theorem [16] we infer that

$$u_k(t) \to u(t)$$
 in  $L^2(0, T; H)$  strongly. (2.18)

 $\forall v \in H^1_{per}(\Omega), \forall \psi(t) \in C_0^{\infty}(0, T)$ , by (2.6) we claim that

$$\int_{0}^{T} (u_{kt}, \psi(t)v) dt + \int_{0}^{T} (u_{kxt}, \psi(t)v_{x}) dt + v \int_{0}^{T} (u_{kx}, \psi(t)v_{x}) dt - \int_{0}^{T} (f(u_{k}), \psi(t)v_{x}) dt = \int_{0}^{T} (g, \psi(t)v) dt.$$
(2.19)

4880 Bixiang Wang and Wanli Yang

Note that

$$\left| \int_{0}^{T} (f(u_{k}), \psi(t)v_{x}) dt - \int_{0}^{T} (f(u), \psi(t)v_{x}) dt \right| = \left| \int_{0}^{T} (f(u_{k}) - f(u), \psi(t)v_{x}) dt \right|$$
  
$$\leq \int_{0}^{T} \|f(u_{k}) - f(u)\| \|\psi(t)v_{x}\| dt \leq \|f'(\xi)\|_{\infty} \int_{0}^{T} \|u_{k} - u\| \|\psi(t)v_{x}\| dt$$
  
$$\leq C \|\psi(t)v_{x}\|_{L^{2}(0,T;H)} \|u_{k} - u\|_{L^{2}(0,T;H)} \to 0 \qquad (by (2.18)) . \qquad (2.20)$$

Taking the limit of (2.19) as  $k \to \infty$ , by (2.16), (2.17) and (2.20) we find that

$$\int_{0}^{T} (u_{t}, v)\psi(t) dt + \int_{0}^{T} (u_{xt}, v_{x})\psi(t) dt + v \int_{0}^{T} (u_{x}, v_{x})\psi(t) dt - \int_{0}^{T} (f(u), v_{x})\psi(t) dt = \int_{0}^{T} (g, v)\psi(t) dt.$$
(2.21)

Hence, the following holds in the sense of distributions

$$u_t - u_{xxt} - v u_{xx} + (f(u))_x = g(x)$$
(2.22)

that is, u(t) satisfies equation (2.1).

 $\forall v \in H^1_{\text{per}}(\Omega), \forall \psi(t) \in C^{\infty}[0, T] \text{ with } \psi(T) = 0, \psi(0) = 1, \text{ by (2.6) we obtain that}$ 

$$-\int_{0}^{T} (u_{k}, v)\psi'(t) dt + \int_{0}^{T} (u_{kxt}, v_{x})\psi(t) dt + v \int_{0}^{T} (u_{kx}, v_{x})\psi(t) dt -\int_{0}^{T} (f(u_{k}), v_{x})\psi(t) dt = (u_{k}(0), v) + \int_{0}^{T} (g, v)\psi(t) dt.$$
(2.23)

Assumption (2.4) implies that

$$u_k(0) = u_{0k} \to w_0 \qquad \text{weakly in } H. \tag{2.24}$$

Then taking the limit of (2.23) as before, by (2.24) we obtain that

$$-\int_{0}^{T} (u, v)\psi'(t) dt + \int_{0}^{T} (u_{xt}, v_{x})\psi(t) dt + v \int_{0}^{T} (u_{x}, v_{x})\psi(t) dt -\int_{0}^{T} (f(u), v_{x})\psi(t) dt = (w_{0}, v) + \int_{0}^{T} (g, v)\psi(t) dt.$$
(2.25)

On the other hand, by (2.22) we infer that

$$-\int_{0}^{T} (u, v)\psi'(t) dt + \int_{0}^{T} (u_{xt}, v_{x})\psi(t) dt + v \int_{0}^{T} (u_{x}, v_{x})\psi(t) dt - \int_{0}^{T} (f(u), v_{x})\psi(t) dt = (u(0), v) + \int_{0}^{T} (g, v)\psi(t) dt.$$
(2.26)

It comes from (2.25), (2.26) that

$$(u(0), v) = (w_0, v) \qquad \forall v \in H^1_{\text{per}}(\Omega).$$

This shows that

 $u(0) = w_0. (2.27)$ 

And thus by (2.22) and (2.27) we see that

$$u(t) = S(t)w_0 = w(t).$$
(2.28)

 $\forall v \in H^1_{per}(\Omega), \forall \psi(t) \in C^{\infty}[0, t_1]$  with  $\psi(0) = 0, \psi(t_1) = 1$ , then repeating the procedure of proofs of (2.23)–(2.26), by (2.15) we find that

$$(u(t_1), v) = (\theta, v) \qquad \forall v \in H^1_{\text{per}}(\Omega).$$
(2.29)

It follows from (2.28), (2.29) that

$$\theta = u(t_1) = S(t_1)w_0.$$

And then (2.15) implies that

$$S(t_1)u_{0k} \to S(t_1)w_0$$
 weakly in  $H^1(\Omega)$ 

which concludes theorem 2.1.

### 3. The global attractor

In this section, we construct a global attractor for the problem (2.1)–(2.3). To the end, we assume that

$$g(x) \in L^2_{\text{per}}(\Omega)$$
 and  $\int_{\Omega} g(x) \, \mathrm{d}x = 0.$  (3.1)

And then integrating (2.1) over  $\Omega$  and applying (2.3) we find that the average of u(t) is conserved, i.e. for all t > 0:

$$\theta(u(t)) = \frac{1}{|\Omega|} \int_{\Omega} u(x,t) \,\mathrm{d}x = \frac{1}{|\Omega|} \int_{\Omega} u_0(x) \,\mathrm{d}x = \theta(u_0). \tag{3.2}$$

This shows that problem (2.1)–(2.3) has not bounded absorbing sets in the whole space *H*. This difficulty is overcome by introducing

$$H_{\alpha} = \{ u \in H : |\theta(u)| \leq \alpha \}.$$

Equation (3.2) implies that  $H_{\alpha}$  is invariant under the semigroup S(t) associated to system (2.1)–(2.3).

In the sequel, we will show that bounded absorbing sets in  $H_{\alpha}$  do indeed exist.

Lemma 3.1. Assume that (3.1) holds,  $u_0 \in H^1_{per}(\Omega) \bigcap H_{\alpha}$ . Then for the solution u(t) of problem (2.1)–(2.3) we have

$$\|u(t)\|_{H^1} \leqslant K \qquad \forall t \ge t_1$$

where K is a constant depending only on the data  $(v, f, g, \Omega, \alpha)$ ,  $t_1$  depends on the data  $(v, f, g, \Omega, \alpha)$  and R when  $||u_0||_{H^1} \leq R$ .

In the following, we agree that  $\forall u_0 \in H$ ,

$$\bar{u} = u - \theta(u)$$
  $\qquad \theta(u) = \frac{1}{|\Omega|} \int_{\Omega} u(x) \,\mathrm{d}x.$  (3.3)

*Proof.* We note that

$$u(t) = \bar{u}(t) + \theta(u(t))$$
 (by (3.3))  
=  $\bar{u}(t) + \theta(u_0)$  (by (3.2)). (3.4)

Substituting (3.4) into (2.1) we find that

$$\bar{u}_t - \bar{u}_{xxt} - \nu \bar{u}_{xx} + (f(u))_x = g(x).$$
(3.5)

Taking the inner product in H of (3.5) with  $\bar{u}$  we infer that

$$\frac{1}{2}\frac{\mathrm{d}}{\mathrm{d}t}\|\bar{u}\|^2 + \frac{1}{2}\frac{\mathrm{d}}{\mathrm{d}t}\|\bar{u}_x\|^2 + \nu\|\bar{u}_x\|^2 + \int_{\Omega} (f(u))_x \bar{u}\,\mathrm{d}x = (g,\bar{u}).$$
(3.6)

Let

$$F(s) = \int_0^s f(\tau) \,\mathrm{d}\tau$$

then we find that

$$\int_{\Omega} (f(u))_{x} \bar{u} \, dx = -\int_{\Omega} f(u) \bar{u}_{x} \, dx = -\int_{\Omega} f(u) u_{x} \, dx$$
$$= -\int_{\Omega} (F(u))_{x} \, dx = -F(u(L)) + F(u(0)) = 0.$$
(3.7)

We recall the Poincaré inequality

$$\|v\| \le C_1 \|v_x\|$$
 if  $\int_{\Omega} v(x) \, \mathrm{d}x = 0.$  (3.8)

By (3.3) we see that

$$\int_{\Omega} \bar{u}(x,t) dx = \int_{\Omega} (u(x,t) - \theta(u)) dx$$
$$= \int_{\Omega} u(x,t) dx - \int_{\Omega} u(x,t) dx = 0 \qquad (by (3.2))$$
(3.9)

and then it comes from (3.8), (3.9) that

$$\|\bar{u}(t)\| \leqslant C_1 \|\bar{u}_x(t)\| \qquad \forall t \ge 0.$$
(3.10)

Thus

 $|(g, \bar{u})| \leq ||g|| ||\bar{u}|| \leq C_1 ||g|| ||\bar{u}_x|| \leq \frac{1}{4} \nu ||\bar{u}_x||^2 + C_2$  (by Young inequality). (3.11)In the sequel, we denote by C and  $C_i$  (i = 1, 2, ...) any constants depending only on the data  $(\nu, f, g, \Omega, \alpha)$ .

By (3.6), (3.7) and (3.11) we have

$$\frac{\mathrm{d}}{\mathrm{d}t}(\|\bar{u}\|^2 + \|\bar{u}_x\|^2) + \frac{3}{2}\nu\|\bar{u}_x\|^2 \leq 2C_2.$$
(3.12)

Due to

$$\frac{3}{2} \nu \|\bar{u}_{x}\|^{2} = \frac{1}{2} \nu \|\bar{u}_{x}\|^{2} + \nu \|\bar{u}_{x}\|^{2} \geqslant \frac{1}{2} \nu \|\bar{u}_{x}\|^{2} + \nu C_{1}^{-2} \|\bar{u}\|^{2}$$
 (by (3.10))  
 
$$\geqslant C_{3}(\|\bar{u}\|^{2} + \|\bar{u}_{x}\|^{2})$$
 (3.13)

where  $C_3 = \min\{\frac{1}{2}\nu, \nu C_1^{-2}\}$ . By (3.12), (3.13) we claim that

$$\frac{\mathrm{d}}{\mathrm{d}t}(\|\bar{u}\|^2 + \|\bar{u}_x\|^2) + C_3(\|\bar{u}\|^2 + \|\bar{u}_x\|^2) \leq 2C_2 \qquad \forall t \ge 0.$$

By the Gronwall lemma we obtain that

$$\|\bar{u}(t)\|^{2} + \|\bar{u}_{x}(t)\|^{2} \leq (\|\bar{u}(0)\|^{2} + \|\bar{u}_{x}(0)\|^{2})e^{-C_{3}t} + \frac{2C_{2}}{C_{3}}$$

$$\leq (1 + C_{1}^{2})\|\bar{u}_{x}(0)\|^{2}e^{-C_{3}t} + \frac{2C_{2}}{C_{3}} \qquad (by (3.10))$$

$$= (1 + C_{1}^{2})\|u_{x}(0)\|^{2}e^{-C_{3}t} + \frac{2C_{2}}{C_{3}} \qquad (by (3.3))$$

$$\leq (1 + C_{1}^{2})R^{2}e^{-C_{3}t} + \frac{2C_{2}}{C_{3}} \qquad \forall t \ge 0$$

$$\leq \frac{4C_{2}}{C_{3}} \qquad \forall t \ge t_{*} \qquad (3.14)$$

where  $t_* = \frac{1}{C_3} \ln \frac{C_3(1+C_1^2)R^2}{2C_2}$ .

Since  

$$\int_{\Omega} \bar{u}(x,t)\theta(u(x,t)) \,\mathrm{d}x = \theta(u(x,t)) \int_{\Omega} \bar{u}(x,t) \,\mathrm{d}x = 0 \qquad \text{(by (3.9))}$$
(3.15)

and therefore we see that  $\bar{u}(t)$  and  $\theta(u(t))$  are orthogonal in H. Thus we obtain that

$$\|u(t)\|^{2} = \|\bar{u}(t)\|^{2} + \|\theta(u)\|^{2} = \|\bar{u}(t)\|^{2} + |\theta(u)|^{2}|\Omega|$$
  

$$\leq \|\bar{u}(t)\|^{2} + \alpha^{2}|\Omega| \qquad (by (3.2) \text{ and } u_{0} \in H_{\alpha}). \qquad (3.16)$$

We claim that

$$\|u(t)\|_{H^1}^2 = \|u(t)\|^2 + \|u_x(t)\|^2 \le \|\bar{u}(t)\|^2 + \|\bar{u}_x(t)\|^2 + \alpha^2 |\Omega| \qquad \text{(by (3.16))}$$
$$\le \frac{4C_2}{C_3} + \alpha^2 |\Omega| \qquad \text{(by (3.14))}$$

which concludes lemma 3.1.

Obviously, lemma 3.1 implies that the ball

$$B = \{ u \in H^1(\Omega) : \|u\|_{H^1} \leqslant K \}$$
(3.17)

is an absorbing set for S(t) in  $H^1(\Omega) \bigcap H_{\alpha}$ .

Let

$$\mathcal{A} = \bigcap_{s \ge 0} \overline{\bigcup_{t \ge s} S(t)B}$$
(3.18)

where the closure is taken with respect to the  $H^1$ -weak topology. And then by theorem 2.1 we know that A is a global (weak) attractor for S(t). More precisely, we have the following.

Theorem 3.1. Let (3.1) hold. Then the set A defined by (3.18) satisfies that

(i)  $\mathcal{A}$  is bounded and weakly closed in  $H^1(\Omega) \cap H_{\alpha}$ ;

(ii)  $S(t)\mathcal{A} = \mathcal{A}, \forall t \ge 0;$ 

(iii) for every bounded set X in  $H^1(\Omega)$ , S(t)X converges to  $\mathcal{A}$  with respect to the  $H^1$ -weak topology as  $t \to \infty$ .

*Proof.* This theorem can be derived by theorem 2.1 and the techniques of [13]. The details are similar to that of [13], and so they are omitted here.  $\Box$ 

We now apply the method introduced by Ball [15] to show that  $\mathcal{A}$  is actually the global strong attractor in  $H^1(\Omega)$ .

*Theorem 3.2.* The global weak attractor  $\mathcal{A}$  constructed in theorem 3 is actually the global strong attractor in  $H^1(\Omega)$ .

*Proof.* Since a point w belongs to the attractor  $\mathcal{A}$  if and only if there exist two sequences  $\{w_k^0\}_{k\in\mathbb{N}}$  and  $\{t_k\}_{k\in\mathbb{N}}$  such that  $S(t_k)w_k^0$  converges to w weakly in  $H^1(\Omega)$ , where  $\{w_k^0\} \in B$ , the bounded absorbing set in  $H^1(\Omega)$ ,  $t_k \to +\infty$ . This theorem will be proved if we are able to show that for  $w \in \mathcal{A}$ , the sequence  $S(t_k)w_k^0$  converges to w strongly in  $H^1(\Omega)$ .

Fix T > 0, by lemma 3.1 we know that the sequence  $S(t_k - T)w_k^0$  is bounded in  $H^1(\Omega)$ , and then  $v \in H^1(\Omega)$  and a subsequence exist, which are still denoted by  $S(t_k - T)w_k^0$ , such that

$$S(t_k - T)w_k^0 \to v$$
 weakly in  $H^1(\Omega)$ . (3.19)

Set  $w_k(t) = S(t)S(t_k - T)w_k^0 = S(t_k + t - T)w_k^0$ , by theorem 2.1 and (3.19) we see that  $w_k(t) \rightarrow S(t)v$  weakly in  $H^1(\Omega)$ , and w = S(T)v.

We note that if u(t) is a solution of problem (2.1)–(2.3), then by taking the inner product of (2.1) with u in H, we obtain that

$$\frac{\mathrm{d}}{\mathrm{d}t}(\|u\|^2 + \|u_x\|^2) + 2\nu \|u_x\|^2 + 2\int_{\Omega} (f(u))_x u \,\mathrm{d}x = 2(g, u). \tag{3.20}$$

Similar to (3.7) we see that

$$2\int_{\Omega} (f(u))_{x} u \, \mathrm{d}x = -2\int_{\Omega} f(u)u_{x} \, \mathrm{d}x = 0.$$
(3.21)

And then by (3.20), (3.21) we have

$$\frac{\mathrm{d}}{\mathrm{d}t} \|u(t)\|_{H^1}^2 + 2\nu \|u(t)\|_{H^1}^2 = 2\nu \|u(t)\|^2 + 2(g, u).$$
(3.22)

This shows that

$$\|u(t)\|_{H^1}^2 = e^{-2\nu t} \|u(0)\|_{H^1}^2 + \int_0^t e^{2\nu(\tau-t)} K(u(\tau)) \,\mathrm{d}\tau$$
(3.23)

where

$$K(u) = 2v ||u||^2 + 2(g, u).$$
(3.24)

By compactness embedding  $H^1(\Omega) \subset H$  we can easily deduce that K(u) is weakly continuous in  $H^1(\Omega)$ . Because any solution satisfies (3.23), and then for  $w_k(t) = S(t)S(t_k - T)w_k^0$ , we infer that

$$\|w_k(t)\|_{H^1}^2 = e^{-2\nu t} \|S(t_k - T)w_k^0\|_{H^1}^2 + \int_0^t e^{2\nu(\tau - t)} K(S(t_k + \tau - T)w_k^0) \,\mathrm{d}\tau.$$
(3.25)

Taking t = T in (3.25), by the Lebesgue dominated convergence theorem we deduce that

$$\limsup_{k \to \infty} \|S(t_k)w_k^0\|_{H^1}^2 \leqslant C e^{-2\nu T} + \int_0^T e^{2\nu(\tau - T)} K(S(\tau)\nu) \,\mathrm{d}\tau.$$
(3.26)

The above is obtained by the boundedness of  $S(t_k - T)w_k^0$  in  $H^1(\Omega)$ .

Applying (3.23) for w = S(T)v we have

$$\|w\|_{H^1}^2 = e^{-2\nu T} \|v\|_{H^1}^2 + \int_0^T e^{2\nu(\tau - T)} K(S(\tau)v) \,\mathrm{d}\tau.$$
(3.27)

By (3.26) and (3.27) we have

$$\limsup_{k \to \infty} \|S(t_k)w_k^0\|_{H^1}^2 \leqslant C e^{-2\nu T} + \|w\|_{H^1}^2 - e^{-2\nu T} \|v\|_{H^1}^2.$$
(3.28)

Let  $T \to +\infty$ , we find that

$$\limsup_{k \to \infty} \|S(t_k) w_k^0\|_{H^1}^2 \le \|w\|_{H^1}^2.$$
(3.29)

On the other hand, by the weak convergence of  $S(t_k)w_k^0$  to w in  $H^1(\Omega)$ , we see that

$$\liminf_{k \to \infty} \|S(t_k) w_k^0\|_{H^1}^2 \ge \|w\|_{H^1}^2.$$
(3.30)

And then we have

$$\lim_{k \to \infty} \|S(t_k) w_k^0\|_{H^1}^2 = \|w\|_{H^1}^2.$$
(3.31)

This along with the weak convergence implies the strong convergence. The proof of theorem 3.2 is complete.  $\hfill \Box$ 

Quite analogous to [14] where we dealt with the finite-dimensionality of the global attractor in  $H^2(\Omega)$ , we can also deduce the finite-dimensionality of the global attractor  $\mathcal{A}$  here. That is, we have the following.

Theorem 3.3. The global attractor  $\mathcal{A}$  of theorem 3.1 has finite fractal and Hausdorff dimensions in  $H^1(\Omega)$ .

#### References

- Bona J L and Dougalis V A 1980 An initial- and boundary-value problem for a model equation for propagation of long waves J. Math. Anal. Appl. 75 503–22
- [2] Bona J L and Smith R 1975 The initial-value problem for the Korteweg-de Vries equation Phil. Trans. R. Soc. 278 555-604
- [3] Showalter R E 1978 Sobolev equations for nonlinear dispersive systems Appl. Anal. 7 297-308
- [4] Amick C J, Bona J L and Schonbek M E 1989 Decay of solutions of some nonlinear wave equations J. Diff. Eqns 81 1–49
- [5] Benjamin T B, Bona J L and Mahony J J 1972 Model equations for long waves in nonlinear dispersive systems *Phil. Trans. R. Soc.* 272 47–78
- [6] Bona J L and Bryant P J 1973 A mathematical model for long waves generated by wavemakers in nonlinear dispersive systems *Proc. Cambridge Phil. Soc.* 73 391–405
- [7] Medeiros L A, Milla M and Miranda M M 1977 Weak solutions for a nonlinear dispersive equation J. Math. Anal. Appl. 59 432-41
- [8] Medeiros L A and Menzala G P 1977 Existence and uniqueness for periodic solutions of the Benjamin-Bona-Mahony equation SIAM J. Math. Anal. 8 792-9
- [9] Albert J 1989 On the decay of solutions of the generalized Benjamin–Bona–Mahony equation J. Math. Anal. Appl. 141 527–37
- [10] Biler P 1992 Long time behaviour of solutions of the generalized Benjamin-Bona-Mahony equation in two-space dimensions *Differential and Integral Equations* 5 891–901
- [11] Temam R 1988 Infinite Dimensional Dynamical Systems in Mechanics and Physics (New York: Springer)
- [12] Constantin P, Foias C and Temam R 1985 Attractors representing turbulent flows Memoirs AMS 53
- [13] Ghidaglia J M 1988 Finite dimensional behaviour for weakly damped driven Schrodinger equations Ann. Inst. Henri Poincaré, Analyse Nonlineaire 5 365–405
- [14] Wang B 1997 Attractors and approximate inertial manifolds for the generalized Benjamin–Bona–Mahony equation Math. Meth. Appl. Sci. 20 189–203
- [15] Ball J M A proof of the existence of global attractors for damped semilinear wave equations, to appear
- [16] Temam R 1984 Navier-Stokes Equations (New York: North-Holland)